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x'".R'1=(x+R)?2-(R-x+R )2, x Area

2 2 R

= (x+R)2- (R-x+R )(R-x+R )
2 2 2
= (x4R )2 - (R2-ZR x + R + ( x+R)?)
% 7K

o X'.R1=R.x

But x'=R'1 2 (X')2 =R.X .evreeeereinnnns

Y.R2=(y+R)2-(R-y+R )2 , y Area

2 2 R
=(y+R)2-((R-y+R )(R-y+R ))

2 2 2
= (2&)2—(R2—2R3LR+(%RA2)
%

. y.R2=R.y

But y'=R2 = (Y)2=R.Y i




R Area = Area R'3

X+y (X+y)'

R3(x+y)' =
(R+(x+y))2 -((x+y)-(R+(x+y))?
2 2
= (R (x+y))2-((x+y) - (R (x+y)(x+y) - (R+(x+y))
2 2 2
= (R+ N2-((x+y)2=2(x+y)(R+(x+y)+ R+ (x+Y))?)
2 4 2

- R3(X+y)=(X+y)R

But R3=(x+y) = (R3)2=(X+VY)R ecrerrererne. eqnd .
Add eqnl and egh2 we get

(x')2+(y')2=Rx+R.y
e (X)ZH(Y)2=R(XFY) e eqM .
from eqgn3 (R'3)2=(x+y )R, substitute this valuein eqn® we get

(x')2+(y)?=(R'3)?
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